

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

# Page No.:1 of 4

#### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. GBK 4427U

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	TAIL GATE	CRUSHED	1,828.60	1,737.00
2	TAIL GATE HINGE @\$68.00	TO REPAIR SEE LABOUR	136.00	-
1	TAIL GATE LOCK	BENT / JAMMED	296.10	271.40
1	TAIL GATE LOWER LOCK TOP GARNISH	DEFORMED / TORN	142.50	142.50
1	TAIL GATE WEATHERSTRIP	DEFORMED	225.00	225.00
2	TAIL GATE DAMPER @\$185.00	O/S NOT NECESSARY / N/S BENT	370.00	185.00
1	TAIL GATE OUTER GARNISH	HOLDER FRACTURED	202.00	202.00
1	TAIL GATE LOGO	NECESSARY	67.50	67.50
1	TAIL GATE EMBLEM NV200	NECESSARY	66.30	66.30
1	TAIL GATE PLATE "VANETTA"	NECESSARY	86.90	86.90
2	TAIL GATE SIDE STOPPER @\$22.00	NECESSARY	44.00	44.00
1	TAIL GATE WINDSCREEN SEAL	NECESSARY	158.77	158.77
1	TAIL GATE INNER TRIM	DEFORMED / TORN	198.00	198.00
1	TAIL GATE WIPER NOZZLE	BROKEN	75.00	75.00
1	REAR WINDSCREEN	SHATTERED	1,420.00	1,200.00
1	REAR WINDSCREEN WIPER ARM	BENT	145.00	83.00
1	REAR WINDSCREEN WIPER MOTOR	BENT / MALFUNCTION	225.80	212.00
2	TAIL LAMP @\$325.00	O/S HOLDER BROKEN / N/S CRUSHED	650.00	629.20
2	TAIL LAMP INNER PANEL @\$211.00	N/S DISTORTED / O/S TO REPAIR SEE LABOUR	422.00	180.20
1	REAR FENDER LH	CRUSHED	1,721.00	1,439.70
1	REAR PILLAR OUTER LH	BUCKLED	423.00	423.00
1	REAR FENDER GUIDE RAIL LH	BROKEN	262.30	262.30
1	REAR FENDER WINDOW GLASS LH	NOT NECESSARY	450.00	-
1	REAR FENDER INNER PANEL LH	TO REPAIR SEE LABOUR	1,482.00	-

Report Ref No. CS3/FCI22003674/Tqy3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR FENDER AIR VENT OUTER LH	DEFORMED	62.60	62.60
1	REAR FENDER AIR VENT INNER LH	HOLDER FRACTURED	85.00	85.00
1	REAR FENDER INNER TRIM LH	DEFORMED	165.00	165.00
1	REAR END PANEL	BENT	542.00	542.00
1	REAR FLOOR PANEL	TO REPAIR SEE LABOUR	1,328.40	-
1	REAR EXHAUST PIPE	NOT NECESSARY	580.50	-
1	REAR BUMPER	CRACKED	596.00	566.90
2	REAR BUMPER SIDE RETAINER @\$32.50	HOLDER BROKEN	65.00	65.00
1	REAR BUMPER SPONGE	TORN	122.00	122.00
2	REAR BUMPER REFLECTOR @\$89.50	GRAZED	179.00	179.00
1	REAR BUMPER TOW COVER	NOT NECESSARY	28.70	-
2	FRONT BUMPER SIDE RETAINER @\$35.00	CRACKED	70.00	70.00
1	FRONT BUMPER REINFORCEMENT	BENT	605.00	559.00
1	FRONT BUMPER SPONGE	MISSING	198.75	198.75
1	FRONT BUMPER UNDERCOVER	CRACKED	275.00	275.00
1	FRONT RADIATOR GRILLE ASSY LOGO	NECESSARY	73.90	73.90
2	HEADLAMP @\$684.40	HOLDER BROKEN	1,369.20	1,291.00
2	HEADLAMP LOWER GARNISH @\$175.41	HOLDER BROKEN	350.82	350.82
1	BONNET	BUCKLED	1,050.80	864.00
1	BONNET LOCK ASSY	TO REPAIR SEE LABOUR	177.10	-
2	BONNET HINGE @\$75.00	TO REPAIR SEE LABOUR	150.00	-
1	BONNET INSULATOR	NOT NECESSARY	198.12	-
1	FRONT FENDER LH	TO REPAIR SEE LABOUR	540.70	-
1	FRONT FENDER INNER SHIELD LH	DEFORMED	158.90	158.90
1	FRONT SUPPORT PANEL	TO REPAIR SEE LABOUR	645.12	-
2	FRONT SUPPORT TOP PANEL SIDE @\$165.00	TO REPAIR SEE LABOUR	330.00	-
1	AIRCON CONDENSER	NOT NECESSARY	673.20	-
1	RADIATOR	NOT NECESSARY	823.52	-
4	RADIATOR AIR GUIDE @\$85.20	TORN (3PCS ONLY)	340.80	255.60

Report Ref No. CS3/FCI22003674/Tqy3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR FLOOR PANEL (NPA)	TO REPAIR SEE LABOUR	-	-
1	SLIDING DOOR LH (NPA)	TO REPAIR SEE LABOUR	-	-
	LESS 10% DISCOUNT		-2,288.29	-1,377.32
			20,594.61	12,395.92
	SPECIAL NETT ITEMS			
1	REAR BUMPER REVERSE SENSOR (SN)	MALFUNCTION	200.00	200.00
1	REAR NUMBER PLATE (SN)	DENTED	50.00	30.00
10	REAR BUMPER CLIPS (SN)	NECESSARY	50.00	30.00
1	REAR BUMPER SPOILER (SN)	DEFORMED	650.00	450.00
1	REAR END PANEL SEALANT (SN)	NECESSARY	40.00	40.00
1	TAIL GATE SPOILER (SN)	CRACKED	580.00	450.00
1	SET TAIL GATE INNER TRIM CLIPS (SN)	NECESSARY	40.00	30.00
2	TAIL GATE STICKER 70KM/H & 600KG (SN)	NECESSARY	35.00	35.00
1	TAIL GATE WINDSCREEN SEALANT (SN)	NECESSARY	60.00	60.00
1	REAR FENDER QUARTER GLASS SEALANT LH (SN)	NECESSARY	30.00	30.00
1	SET REAR FENDER INNER TRIM CLIPS LH (SN)	NECESSARY	30.00	30.00
1	REVERSE CAMERA (SN)	NOT NECESSARY	450.00	-
1	FRONT BUMPER (SN)	CRUSHED	950.00	750.00
2	FRONT BUMPER FOG LAMP CHROME GARNISH @ \$125.00 (SN)	N/S GRAZED / O/S REFIX	250.00	125.00
2	FRONT BUMPER FOG LAMP @\$240.00 (SN)	N/S MISSING / O/S REFIX	480.00	240.00
1	FRONT BUMPER LOWER GRILLE (SN)	BROKEN	88.50	88.50
1	SET FRONT BUMPER DECORATION LIGHTS (SN)	N/S MISSING	280.00	150.00
1	FRONT BUMPER CLIPS (SN)	NECESSARY	50.00	30.00
1	FRONT RADIATOR GRILLE ASSY (FIBER) (SN)	TORN	480.00	300.00
1	FRONT NUMBER PLATE (SN)	DENTED	50.00	30.00
			4,843.50	3,098.50



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	LABOUR			
	TO DISMANTLE, REPLACE, CUT, WELD, KNOCK OUT DENTS TO STRAIGHTEN ACCIDENT PARTS AS-MENTIONED ON THE 'PARTS REPAIR' COLUMN INCLUSIVE OF REPLACEMENT PARTS. INCLUSIVE OF THE REPAIR OF TAIL GATE HINGE, TAIL LAMP INNER PANEL O/S, REAR FENDER INNER PANEL LH, REAR FLOOR PANEL, BONNET LOCK ASSY, BONNET HINGE, FRONT FENDER LH, FRONT SUPPORT PANEL, FRONT SUPPORT TOP PANEL SIDE, REAR FLOOR PANEL AND SLIDING DOOR LH.		2,340.00	1,800.00
	PUTTY & SPRAY PAINTING TO ADJACENT PANELS. JOB ALLOWANCE. PAINT / MATERIAL.		2,500.00	2,200.00
	APPLY RUST PROOFING ON THE ADJACENT PANELS.		100.00	100.00
	REMOVE / REPLACE AIRCON CONDENSER AND REFILL AIRCON GAS.	NOT NECESSARY	112.50	-
	REMOVE AND REFIX TAILGATE REAR WINDSCREEN GLASS (2-MAN JOB)		168.00	120.00
	REMOVE AND REFIX QUARTER GLASS LH.		45.00	45.00
	REMOVE AND REFIX UPHOLSTERY, CUSHION SEAT & REAR INNER TRIMS TO FACILITATE REPAIR.		135.00	80.00
	REMOVE AND REPLACE REAR BUMPER REVERSE SENSOR & CONDUCT DISTANCE SAFETY SETTING.		81.60	30.00
	REMOVE AND REFIX REAR REVERSE CAMERA & CONDUCT DISTANCE SAFETY SETTING.		81.60	30.00
	TRANSFER OF EXISTING TAILGATE MECHANISM TO NEW TAILGATE.		96.00	60.00
	CONDUCT WATER LEAK TEST FOR REAR PORTION ASSOCIATED REPAIR WORKS.		48.00	30.00
	WIRING AND BULB CHECKING.		48.00	30.00
			5,755.70	4,525.00
	GRAND TOTAL		31,193.81	20,019.42

RECOMMENDED COST OF LUMP SUM REPAIRS		16,000.00
(TO ITS PRE-ACCIDENT CONDITION)		·

Report Ref No. CS3/FCI22003674/Tqy3e2-1

**MOHAMAD TAUFIKH** 

M.MATAI, AMSAE-A

**ANG BRYAN TANI** 

**Automotive Assessor / Investigator** 

**Automotive Assessor** 

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.